o
)

ko) F
8
~0.15F
S o
© 0.1
\" r

..............

..........

................

.............

.............

[y

W[TTTT T

-2

-1

0 1 2 3
TP n (PCA to beamline)

o
[N

< o cot(y) >
o
=
a1

o
N

.............

.............

............................

iy

0.95!

W[TTTT T

-2

-1

0 1 2 3
TP n (PCA to beamline)

—s=— DQM_V0001_R000000001__Global__mkFit1000__ RECO
—— DQM_V0001_R000000001__Global__mkFit100dt__ RECO

100r

A o ©
o O O
[

20

< 00, > (M)

.....

.....

.....

RatioI

o
©
C

|
(¢ B B

-1

0 1 2 3
TP n (PCA to beamline)

<0 / > (Y
PP, > (Y0)
O = N W N O

.......

.......

.......

.- N ARt F -
. . o

.- N o [ Y A
.- R 1 L )
.- aab b HAAE -
| .

.- 1 A I O !

N
T

> &
<

-
-.
-.
H
]
H

AElIA

[TTTT

|

-1

0o 1 2 3
TP n (PCA to beamline)

= 100

.....

.....

.....

RatioI

0.95

W

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


